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QUESTION 1

When the router forwards a data packet, if it does not match the corresponding detailed route and there is no default
route, it will directly discard the data packet () 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

The two switches shown in the figure below have both enabled the STP protocol, which port will eventually be in the
Blocking state? () 

A. STB\\'s G0/0/3 port 

B. C. G0/0/2 port of STA 

C. G0/0/3 port of STA 

Correct Answer: B 

 

 

QUESTION 3

Which of the following fields are present in both IPv6 and IPv4 packet headers? ()* 

A. Next Header 

B. Destination Address 

C. Version 

D. Source Address 

Correct Answer: BCD 

 

QUESTION 4
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What is the default step length of ACL on AR G3 series routers? () 

A. 10 

B. 5 

C. 20 

D. 15 

Correct Answer: B 

 

QUESTION 5

As shown in the figure below, assuming that the MAC address table of SWA. is as follows, now host A. sends a data
frame with a destination MAC address of MAC-Which of the following statements is correct? () 

A. Forward this data according to the G0/0/2 port 

B. SWA. Discard the data frame 

C. Forward this data frame from port G0/0/3 

Correct Answer: B 
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